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Translation in English

Sub: Study of Specific Social Problems (Part-11) (BADSE-606)

Instructions:  Attempt all questions.

Q.1.  Answer in detail (Any Two) (40)
1. Describe the background of nation building process in India & explain the need of
national integration in post-independent India.
2. Explain provisions in Indian constitution which promote secularism.
3. Explain the intermixture of religion & politics in Sikh society is main obstruction for
secularism.

4. Discuss in brief the problems of aged & suggest the remedies to overcome.

Answer in brief (Any Three) (30)
Explain the influence of media on the process of national integration.

Discuss the social problems of scheduled castes.

Discuss in brief the general problem of disabled.

Suggest solution for the problems of women.

S A

The Indian Muslim society is less reformed, so the thinkers have to face greater

opposition — Explain.

Write short notes (Any Two) (30)
Biological approach of women subordination
Problems of Devdasis

Cultural issues
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Role of mass media
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